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- Maths By Pradeep Sir

Q.01ifcotB = 12/5, what is the value of secB?
af2 cot B = 12/5 £ @t sec B &1 AT fhHaan gom ?

A) 13/5
(A) 13/ | Cote=2 A _ 13
B)12/13 s "dedl 3
| 25 +y
(C) 13/12 5 Gl 173 T
(D) 5/12
N B( g (1D
‘c{ K¢ F)) € w— 4 A \,.)-_ \
F -~ \' DU




Maths By Pradeep Sir

Q.21f5tan @ = 4 than find the value of (3sin 8 — 2cos ) = (2sin® + 3 co 50 ).
af stan 6 = 4, 2@ (3sin 6 — 2c0s 0) + (2sin O + 3cos O) BT AT ATd BHel-

. 2 ¢ &a"’]@:-i;‘ >IN®
Y L SS5SNMO - (o |

s COSO

23 SmMco + 2Co50 A =
D) = Y - ARE 3tono -2
23 \(7] JYi T ———

2 torn@® +73




Q3 IfsecA = 17/8, given that A < 90°, what is the value of the following

34s5in A 4+ 15cot A
68cos A - 16tan A

o secA = 17/8 8, 3@ A < 90 £, @ @ a s am s B2

345in A 4+ 15¢cot A
68cos A - 16tan A

(A) 30 (B) 38




Maths By Pradeep Sir

Q.41if5tanf = 4, then

5sin §-3cos @

?

Ssin 0+2cos 0

af2 stan @ = 42 e 3“"8%'835327322’

1
(A) 3 Stome -y

(B) - fane = 1

(OF

Ssinf+2cos ¥

— SO

QP

, — C03X0

SSing-rc=s®

S S“"‘l@ 4 {(Qg;

SHEY IS
Sy +n G




- Maths By Pradeep Sir

Q.5Hifsing = % then the value of 16cos® 0 + tan® 0 is:

af? sine = %E},?ﬁ 16cos? 0 + tan® 6 BT AT ATd Hell

58 . 2 p
A)— . o= 2 5 ..L
e y ' Kk 16 (»<*@ + écmz@

60 e
)5 BIA > J1=3 313 65T+ 2

4+t )
(€)=

(o) =




- Maths By Pradeep Sir

- 2 F 4 o—
Q.6 If tan @ = V5, then the value of <22 2*%¢¢ % ic. gf2 tan @ = V5, at

cosec® O-sect @

cosec® O+sec’ @ W m m ﬂ'

cosec® O-sec’ @

/

7 s S
(A)-; ‘(OYf]@- F)- E)l‘r\@ ) J'cz’_ > QSCC@ Jg
|

- | Nl
! | Cosm Coseco |
5
//> / ™ . '/’
. I ] { // \
o ¢ - . . ’ )
"N/ - ' v | t".
(D) - (pHes-@ -~ N o™ N
4 Y /




Maths 8, Pradeep Sit

o -

(A)15

‘Q
{(C) -~
16

M

f |
Q71f0<9 <9 andcoté= [20- |20-/20
\
N
9 @S cotd = |20~ ’0—\20
m-
\_ }

w. then the value of cosec” 0 -

o @ cosec” 0 w1 7w B-




Maths By Pradeep Sir

8.In A DEF measure ofangle Eis 90°.ifcos D = 8/17, and DE = 16 cm,
then what is the length (in cm) of side DF?

A DEF # ®B10T E BT AT 90° 21T cos D = 8/17 AT DE = 16 Atfee 2, at afon

pF &t Farg (Adftez A ) g ? ; )

(A) 30 . ( oS- %'—ﬂ—, —S’-
(B) 20 & \7

(c) 26 PlL-

D "
b= g

’
r’/ ’
Ve . J' r‘})
- ) r
. $ ]
J




Maths By Pradeep Sir

f ycos 0—-xsin @

Q.9 If cot = % then the value o

ycos 0+ xsin 0 { 5 .ﬂCD
ane . !
ycos 8-xsin 6 C\OS.CD
afd cot = @A BIATAL:

yCcos 0+xsin @

Col=X - &2 Coto ~ Coso®

2 a ST »
(B) 7—;— Sino
(©) ." 2
I

g:l“ Xry 2 )ca-xd

- ~ - - - o 1
(D) ' ', 4’- (75..-," ‘ ,f .~\. .\ '
"’ . -’, l1 e - . )
) »
#

+y*




B Maths By Pradeep Sir i N

Q.10 if sec@ + tan @ = 3.2 then what is the value of sec 0 Tf2 secd + tan 8 = 3. Zt,

A secOBIATHATATE ?
(A) 1 SCC‘@‘*(%@; 3. g"“"*’ta"qo:x
(8) 1-0%5 Srco - {;740 : —6'-3 Secw - {ono = .

| e - :
(c) vy }2{“’(0: H‘."‘-__,g_‘_.1
(p) | 3}S




B Maths By Pradeep Sir i N

Q.M fsech +tanh = 12.5then sech — taneisequoltoUﬁsec() +tanf = 12.5a1
. secH — tan ¢ fFAS WA ¢ ?

(A)4
(B) 2 Seco + tane - 125
(D)% &(Of {o""\@-' X
8 =
&((D-‘tc’rr\@’ SQ(@ {oqu X
\QQO




- Maths By Pradeep Sir

Q.I12lfsinf + cos O = 1, then the value of secH + tan 8 is: afe sin@ +
cos @ = 1, 2, dl sec @ + tan O BT AT FATEIIM 2

(A)0
g|ﬂ® 4+ COSO = | {W'\CD: 'Siﬂ(b
Cosp Cosm CoS® Coso
(C) -1 N
(D)z “‘_Qfﬂ(p+— | = Q2T O gu@: CID

Séc ®- &%@‘-J\_

Sco 4 J(”"\.Q: -"-




Maths By Pradeep Sir

Q.13 If secH = 8x and tan @ = -(x # 0), then the value of 16 (x — —) is: gfe

sech = BxGﬁ'\'tanG— (x #0), ﬁl6(x ——)mmmaﬂﬁrﬂl

1 LCD®

|
8 E 3

(B) —

(C)§ = \é( | J\)
4"

(D) =

2 A6 (3) e




Maths By Pradeep Sir

Q.14 If tanA + cotA = 2 then the value of tan’A + cot A
af2 tanA + cotA 2 2. dl tan?A + cot?A &1 ATa AATa HifAT)

(A)4 b ‘”—/ 5 Wn.

(C)‘ ¢ 2 -

Tty aonons.
O

(%?P( FeottA= Q




B Maths By Pradeep Sir i N

Q.15 secH = 4xand tan b = i:-,(x # 0) then the value ofs(xz - xiz) is: 3912

sech = 4x M tan 6 :%,(x # O)t,T'l’?B(x2 -'i)ammat

(A)l—lb S_Q_CCD > ‘(Q’Y\(p

/
Y Yy, X
(B)% SQ(Z(D - t%ch -

N -

OF 8(,_L> 3y ¥




Maths By Pradeep Sir

Q.16 sec* @ — tan* 0 = 11,sin 0 + cosech =? ko
2 L % sk
sec*® —tan* 0 = 11,sin 0 + cosecd = ?BIES B A - b’ 3 (q to )(a - &)

(a) =

(HO-MH@;” _—_ ~
&sz T ST S.Qc ® - tam Oa\(&(7~°+t,m7° (S“%’(&’)




Maths By Pradeep Sir -

Q.171f 6 + 8 tan@= secgand 8-6 tand = k sece, then what is the value of
k*?
afeée+8tan) = LecO:iﬂ’ZB - 6ta§) =ksec® A BIATAFATE ?

(a- /‘\b T ]
e = sees
B) 22 v
(8) 8-6{Qﬂ®:k§%(®> :

@-b) :Q’w—g‘-a\%

26 +fytan'o + xR lome = St

(C) 77

W 4
€Y 4+ 3¢komio - @xbxRiMo - TR
= B 0
100 + lostomio = seC@+ Secoi-\ (09 = \+k*

oo 14 tomt o) = Sec®o( 1+ K) ®
los SLE&F - M!HM \ —




- Maths By Pradeep Sir

Q.18 1f 6 + 8tan @ = secH and 8 - 6tan 0 = ksec 6, then what is the value of k* ?
af2 6 + 8tan @ = secd T8 — 6tan 0 = ksec()t,ﬂ‘kz aﬂmmt?

(A)N

(B) 22

(C) 77

(D) 99




- Maths By Pradeep Sir

i .
Q.19 6 + 8tan @ = secH and 8 — 6tan = ksec 8, then what is the value of
k*?

af2 6 + 8tan @ = sec® T8 — 6tan B = ksecﬂt,?ﬁkzaﬂmmt?

(AN

(B) 22

(C) 77

)KL




- Maths By Pradeep Sir

Q.20 If sin @ + cos @ = %, then what is sin @ — cos 8 equal to : ?{g_sin 0 +

cos @ = —&. @ sin 6 — cos 6 FEH TTATL ?

e 2

UV —O
(A)o angq@ } bCosm = C &‘ﬂ@ + CoS® =

1 (-@
B) - b gim® - & : -
e T S‘&—q@,Cc)&@ e 4
(C)l ‘I:J ; e /
a* +L-.C . e

o

(D) \/2 le+ 62:1,




Maths By Pradeep Sir

2sin 30° 14+cos 30

2sin 30° 1+cos 30° .
Q.21 The value of T gl equal to: o g
. x g
Wéi I 1 f—i UM 30 :é-
(A) 4 - i
| +J3 ?f- X+ 3

(B) 8 a? 2 Gszo = {2

= / =
(C) 4 -2V3 L 4+ I+3 <

\02\ (A +b)

d+J3 N
(D) 6 - V3 )(" o) N
(

A )
<°(+f%>(o?-f3\ tari

Y-53t TR
RS




- Maths By Pradeep Sir

Q.22 What is the value of 8V3sin 30°tan 60° — 3cos 0° + 3sin® 45° 2cos? 30".
8v3sin 30°tan 60° — 3coss + 3sin® 45° + 2cos® 30° mmmaﬁl

w12 |, —— Ban e 4
’ 2N 20

@815 S x5 - 3 +a 2 .
~ tanen = |2

(c)g IA p JJ—- e fﬂ E;_ | \j’
(D) 1 CoSo =
( 'SOO;@
B> 2




- Maths By Pradeep Sir

Q.23 Find the value of :/ A% &1 919 319 FifoT-

5cos® 60° +4sec? 30° -tan® 45°

sin 30° +cos? 30° C;Séd - o?_/
W st uxy-

(B)Z S (362 .}2:
C 49 L +8 . .

—S*L&-\ \QJ(QM‘\&:’@ Sin 30 =
12 \‘1 3 //I"; "i{) >

\ 1 .

(p330= 12




Maths By Pradeep Sir -

sin 55°

’ 2 c 2 o °
sin® 30" +cos” 60" -sec 35

Q.24 The value of
sec 60° +cosec 30°

is equal to:

Z&u @ﬁs@

5\’*} SS = Cosag

sin® 30° +cos® 60° -sec 35" sin 55°

sec 60° +cosec 30°

CAGIGEIGE T4




B Maths By Pradeep Sir i

Q.25 If sin3x = cos(3x —45°),0° < 3x < 90°, then x is equal to : gfe sin3x =
CoS(3x —457),0" < 3x <90 g, @ x &1 HE J1d B2
(A) 35°

(B) 45° S,u\gx: Cos(\%'r--wg)

oy -
g=1°
i
; ?>’I+'§,x-\4§:_30 M = Cot
p o~ | .g{( :COSQC
X = _\3_5_:3&4-‘5 _
R * 9"




____ B Maths By Pradeep Sir i N

Q.26 If0 06 £90° and sin (20 + 50°) = cos (40 + 16°), then what is the value
of 6 (in degrees) ?
af 0 < 0 < 90° 3 sin (20 + 50°) = cos (46 + 16° ) B, a‘rmm(mﬁ)m

—

Ffrg| , |
(A) 8° °§_Cf+_'§_9_+- 1195_{—1_6 = 9o &’ﬂ@:@&@
(B) 10° o+ (6 = 30 *£y =%
(€) 12° onc QoG8 tomo- Coto
N
60= QN

9( ¢ ~CaMeQ

‘:U—d ;,90'
- =




Maths By Pradeep Sir

Q2710 < 0 <90°, and sec'"” 0 + cos'"" 8 = 2, then (sec + cos 0) is equa

to:
afo < 0 <90°, MTsec' 0 + cos'"7 9 = 28, @ (sec O + cos O) B ATA ATd
'aao ﬁﬁcl
W °7® o3 © "
U)M&L\,(A)Z‘"”’ x+l=2 YT + Cocg - Cmsco-_&_'zm
\
(‘) (B)l e o ‘J &((o')(b_;_ S(' > = & &(@:é-m
c'to
< ¥ '
©):F e, 5\ T
- S | ¥ | \
O +0 =) U
| 1. | = CQ /
i




____ N Maths By Pradeep Sir i

Q.28 Whatis the value of tan(315°) 2 tan(315°) asrarramz?
(A)1
(B) -1

(c)=

(0) =




- Maths By Pradeep Sir

Q.29 What is the value of expression (tan0° - tan1° - tan 2° - tan 3° -

Ty tan 89° )

fAsifSfAa &a® (expression) BT ATHA FATE ?

(tan0° - tan1° - tan2° - tan3° - tan 3" cccccences -tan 89°)

(A) O E . . o

(8)] {MO]{%I'('%Q_{%Z-- _.._-Lo,ngo\‘
(C) 2 %Q‘q Q. = 0

(D) 1/2




Maths By Pradeep Sir

Q.30 What is the value of tan 24° - tan 48° - tan 42" - tan 66° 1}3t caw-dz—
—x
{q'r) 24° - tan 48° - tan 42° - tan 66° 1 AT &-

g"l (ﬁo -o) = Cot®

{:ﬂeu.'{MJB'-émHa" {0”\ 44 GS@o'O)‘Sﬂm

{"'I (3o-o) = Cota

)2 Jamay fanyy. G 4B Cot 9\ Gt (To-0) = tang

{mMoxmtes/ - (Djt )l ad Sec (q0-6) =¥

Sepoxaa =t ® Foms (0 0] > S0
S bk Gotta 0 = L




Maths By Pradeep Sir

Q.31 The value of cosec? 67° + sec*57° — cot?*33° — tan®* 23°is:

cosect 67° + sect57° — cot®33° — tan® 23 BITATATATE ?

CW Ly +9c2

: 8- .
(C)\ 53 - Cot 373—-%(123 3(('2@_{%1@:’ \

(PO Cane ey + 526y _ fomsy - Cott

Qj‘ Sin(f\v-m) = Gl

k \ K‘\ / Cos( 9o -Q)- =J N0
\ , -@)= Cot@
b dr((ﬂo o)
® + () t.c,fc\o—m):\a«\c
3‘(((“0—@):‘&&(@

. Cone.(70-0)=CO .
- =

























e 1 Maths By Pradeep Sir i

Q.34 Whatis cot 1°cot 23°cot 45°cot 67°cot 89° equal to?
cot 1°cot 23°cot 45°cot 67" cot 89° fhaS aeraz g ?
()0

(B)1
OF
(D)




MATHEMATICS

By Pradeep Sir

Q3. The angles of elevation of the tops of two
pillars of heights h and 2h from a point P on the
line joining the feet of the two pillars are
complementary. If the distances of the foot of
the pillars from the point P are x and y
respectively, then which one of the following is
correct?

h 312 2h FaTE a1 2l Hail & 3memeY (3reitemn) &t
Ao st 3o ue fRla fael facg p & dlel Hail

& fiaf & I g BT CH TS & {k: 10
Paﬁﬁﬁmﬁqﬁ?ame?T%zy%

fAssfafaa # & oia a1 v Td 22

A) 2h? = x%y (B) 2h? = xy?
[%E}Zh’ =Xy | (D) 2h2 =x2y>




MATHEMATICS s Pk

Q4. A pole is standing on the top of a house,
Height of house is 25 metres. The angle of
elevation of the top of house from point P is 45°
and the angle of elevation of the top of pole
from P is 60°. Point P is on the ground level.
What is the height (in metres) of pole ?

TS " 6l Tt U2 v TR eI 21 He it FaTE 25
ez 21 fase P & e &t Tt &1 Io1aa BT 45°

daarp A &1 A1t &1 Joordal HIvT 60° 2l fAsg P
N ERE) 3ffat &t Tag Uz 21 TN it Farg (e A) =g ?

g BRI




on opposite sides of a road which is 40 m wide.
The angles of elevation of the tops of the pillars
A and B are 30° and 45° respectively, at a point
on the road between the pillars. What is the
distance (in m) of the point from the foot of
pillar A?

AHAGCTIFSUE S HAATBTH A0 . N TH &
ateil 3 &3 €1 A3% & et ey & 30 efif &
IooTdel BIVT thatel: 30° 31T 45° E1'A Ha A 34 sy
& a2

(A) 40(v/3-1) m

(c)20(3-v3)m

- m




MATHEMATICS s Pk

Q6. The angle of elevation of the top of a tower
25+/3 m high from two points on the level
ground on its opposite sides are 45° and 60°.
What is the distance (in mm) between the two

points (correct to one decimal place)?

25./3 #Ht. A v ciae &1 ofif &1, 28 aat 30

Hade Aeral U fRIa 8 fdsg il & Iserast HIvT 45°
T4 60° 21 31 Aoyl & dra Hit gft fhasit 2 2

(A) 45.3m (B) 58.4m

YE X




MATHEMATICS

By Pradeep Sir

Q7. A pole of length 7 m is fixed vertically on the
top of a tower. The angle of elevation of the top
of the pole observed from a point on the
ground is 60°and the angle of depression of the
same point on the ground from the top of the
tower is 45°. The height (in m) of the tower is:

T ciae & ofif ue 7 oft. &t v B3 3tafer su &
=nfaa &t 3 21 off W v g & B3 & efif &
AaGifebd fba1 I Iso1del HIvi 60° & 312 iae &
2ftef & affat ue 3eft faig w1 sraererat HivT 45° B1Tae

&t Fans (. ) 22

(8)2(2v3 - 1)



MATHEMATICS

By Pradeep Sir

Q8. A person was standing on a road near a
mall. He was 1425 m away from the mall and
able to see the top of the mall from the road in
such a way that the top of a tree, which is in
between him and the mall, was exactly in line
of sight with the top of the mall. The tree height
is 10 m and it is 30 m away from him. How tall
(inm) is the mall ?

TE Al ATS & fAde q3d U 31 ¥l I Al @

1425 3. 6t tl}\ 32 As® A Al & efif bl g
WhTe a&ial & 30 3 dife & dfiu fRla
ﬂzaﬂeﬁd‘maseﬁd‘asmaz@m & #1 93 &t
:ﬁrr{loaﬂ € 3¢ I 38 =afd & 30 oft. Ht gft ue
(20 &t Farg (3f. A) a2
(O (B) 300

(D) 525



MATHEMATICS e Bl

Q9. The tops of two poles of height 60 metres

t! -
/ o ‘_lB'
and 35 metres are connected by a rope. If the
= 0
S ¥

6 rope makes an angle with the horizon- tal

whose tangent is 5/9 metres, then what is the

distance (in metres) between the two poles?

3l @at fAadht Farf 60 ez o 35 ez £ Hit

-

aifeal &t zz=ft & witeT 9ran 21 af et aifdw & ane
&1 Faardt & fAadt zaef 2@r 5/9 e &, at =t
il & daHit g (fice A) =g 2
(A) 63 (B) 30

-
95 . .
= 34




4em

MATHEMATICS i Pkl

Q10. Asha and Suman’'s mud forts have heights

9 cm and 16 cm. They are 24 cm apart. How far

(in cm) are the fort tops from each other?

312N 32 ot greT gene e A & el &t Fard
9cm 312 16cm 213 TH-gHe & 24 cm 6 g TR 2
I 2ftef & dita &l gt (cm R) SiTa F2

(A)16 (B) 7

)2




MATHEMATICS

By Pradeep Sir

QIl. The angle of elevation of a flying drone
from a point on the ground is 60°. After flying
for 5 seconds the angle of elevation drops to
30°. If the drone is flying horizontally at a

constant height of 10003 m, the distance
travelled by thedroneiis:

oefiel U2 U fdg & U 3311 3lel BT Iooidel HIVI
60° 215 A3 I31dl 3iTal & d1¢ Jourdal B1vr 30 f23M

a® Ha 8 aTdl 21 af2 et Sfder =9 A 100043 .
ﬁﬁmmﬁw:ﬁmi Al g gRIS Abs A ad
&t 1 gt =ira Hife

(A) 2000 m/3t. (8) 1000 m/4t.
(c) 3000 m/3t. (D) 4000 m/3t.




MATHEMATICS s Pk

Q12. The angles of elevation of the top of a
tower from two points on the ground at
distance 52 m and 13 m from its base and in the
same straight line with it are complementary.

The height (in m) of the tower is:
T ciae & ofidf &, affat ue 2iae & 3nmeme & 52 #i.

312 13 3ft. &t gt ue ves Hieht e ue =T 3t fagsit
& Falal a1 JooTdel BIVI I ¢l erae &t Hars (m
) =ira HifAel

(A) 26 (B) 20

(S F1: (D)16




MATHEMATICS

By Pradeep Sir

Q13. From the top of a tower, the angles of
depression of two objects on the ground on the
same side of it, are observed to be 60° and 30°
respectively and the distance between the

objects is 4003 m. The height (in m) of the
tower is:

T Hlatre & 2ftel A 31 a3l &1 3ractera Hivl, ffa
U2 38> AT fhaire Uz hatel: 60° 3i1T 30° UTE ATd

gzﬁza’ra’fazgaffasmﬁ{aaooﬁmmtﬂm?ﬂ
| #ftee it Fare (Sfiee A) &

(A) 800 () 8003
(c)e00 (D) 6003




MATHEMATICS

By Pradeep Sir

Ql14. On the top of a hemispherical dome of
radius r, there stands a flag of height h. From a
point on the ground, the elevation of the top
flag is 30°. After moving a distance d towards
the dome, when the flag is just visible the
elevation is 45°. The ratio of h to r is equal to.

x AT a1 v 34l MSTHR Ieae & 2fif a2 h
TS ATS1 U 33T I &1 a6 & U fdog A 38 &
2fief &1 I5oTael BT 30° €1 I[oae & 3i1e d gl asal
& 91¢ WEl dob 381 ATA f3ATE aa1 221 Joordal HIvT
45° 1 ET h A r &1 3UTd fbad TeTae & ?

(A) V2 -1 (8) 2

(c) V3+1 > (D) (V3+1)(v2-1)

d

2V/2 2V2



MATHEMATICS

By Pradeep Sir

QI15. From the top of 75 m high tower, the angle
of depression of two points P and Q on opposite
side of the base of the tower on level ground is
8 and ¢, such that tan 6 = 3/4 and tan ¢ = 5/8.
What is the distance between the points P and

Q?

75 m 33 grae & ofid A of-aw ue fAudia fRemai &
fRka 3t f@gsi p 3k Q U2 2Tae & 3idsierel HIvT 6
MTpedATtan0 =3/4 32 tan  =5/8 IP 32 Q
fagsit & dta &t gt fdastt gft 2

(A) 190 m. /3. (8) 200 m. /3.

(c)180 m. /3. (D) 220 m. /3.
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QI16. A ladder is placed against a wall such that
it just reaches the top of the wall. The foot of
the ladder is at a distance of 5 metres from the
wall. The angle of elevation of the top of the
wall from the base of the ladder is 15°. What is
the length (in metres) of the ladder ?

vs Hidt far & aEr 33 yer @t ¢ & ag dar
&t 91t as ugadt 81 it &1 smeme dare A 5 e
&t gt 21 A & 3neme A dar 6t 9t &1 I
&1v1 15° 21 Hidt Ft Seard (sftee A) g2

(A) 5V6-5V3 (B) 5V6 -5v2
(c)5v2 -1 (D) 5V3 -5V2
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Ql7. Let A and B be two towers with the same
base. From the mid point of the line joining
their feet, the angles of elevation of the tops of
A and B are 30° and 45%, respectively. The ratio

of the heights of Aand B is:
arent f&5 A 302 B JaTe 3Tee aredt g1 e €1 3ie

el AR SR e fasteATA AREB S
oftf & IooTaar BT HAH2I: 30° 31T 45° F1 A 3T B

&t FaE &1 3ieaTd ATd He
CYRER (B)1:V3
ER (D)1:3
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Q18. An aeroplane is flying horizontally at a
height of 1.8 km above the ground The angle of
elevation of plane from point X is 60° and after
20 seconds, its angle of elevation from X is
become 30°. If point X is on ground, then what
is the speed (in km/hr) of aeroplane?

U gars vigi ffA A 1.8 B3t Ht FTard we sz za
g1 fadeg X & FETA ST Iseidat HIVT 60° § FAT 20

AHUZ GATd X & IooTdal HIUT 30° & HA1aT 21 afe

w2 al &1 arfa (fHaft./ =
%?m% ZaTd g (fSaft./ der

(a) 216 V3 (8) 1053
(c) 2013 (D) 3053
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Q19. A man standing on the line joining the two
poles finds that the top of the polest make an
angle of elevation of 60° and 45° respectively.
After walking some distance towards other
pole, the angles becomes 30°and 60°
respectively. The ratio of the height of the poles
is:

2l gal &t fASTa arest 3@ ue 31 v afsh urar &

?;gﬁ‘aseﬂﬂ'mer: 60° 31T 45° Ht FATE &1 HIUT
g ga @t 32

|
el 30° 32 60° 9E3
3He{aTd &-

(A) B (B) 21

2 2

(c) 34-1 (D) \/§4+1

dSal & dI¢ DIl
%% gt &t Fard &1
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Q20. The height of a tower is 300 meters. When
its top is seen from top of another tower, then
the angle of depression is 60°. The horizontal
distance between the bases of the two towers
is 120 metres. What is the height (in metres) of

the small tower?

v Htamre it Farg 300 ez 21 o9 ISt 91Et &
g Htere &t 91t & 3@ wran &, at Iewae ST
60° 1 ZidT g1 2leil Hietrel & 3mem & Ay it gt
120 #ez 21 B e &t Farf (flce A) T e 2
(A) 88.24 (B)106.7

(c) 92.15 (D) 112.64
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Q21. The angle of elevation of an aeroplane
from a point on the ground is 60°. After flying
for 30 seconds, the angle of elevation changes
to 30°. If the aeroplane is flying at a height of
4500 m, then what is the speed (in m/s) of
aeroplane?

AeTel U2 T fdog A U gaTs AETe &1 Iooidat BIvT
60° 21 30 AHUS 3ga1 &b UNTd, Iooidel HBIVT 30° A
ufRafda & orar 21 af2 garé Wi 4500 . &t

:ﬁrrguzzzmi dl garé wiga &t I1fa (aft./3. F)

(A) 503 (8)1003
(c) 2003 (D) 3003
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Q22. A balloon leaves from a point Prises at a
uniform speed After 6 minutes, an observer
situated at a distance of 450 V3 metres from
point P observes that angle of elevation of the

balloon is 60°. Assume that point of
observation and point P are on the same level.

What is the speed (in m/s) of the balloon?

U J[E1R] U Halal I1fd & faeg P & Big1 witan 216

fAsre uyrq, faog p & 450 V3 e gt w2 v
THters e ot 2Ear ¢ & &1 JooTdol HIVT 60°
21 3Tat SfAe b Faften fdsg aan fdsg p v & &
R EIER St afd (3f./ 3. ) g 2

(A) 4.25 G ENE
(c)as (D) 3.45
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Q23. Two points A and B are on the ground and
on opposite sides of a tower. A is closer to the
foot of tower by 42 m than (B) If the angles of
elevation of the top of the tower, as observed
from A and B are 60° and 45°, respectively then
the height of the tower is closest to:

Uz 3 fdg A 3 B f&R)a 2, it e 2fae & ateil
Udh-gae ot faudia faemsn & 21 A, B &t goen

A eTae & e & 42 3t sfds Adec 21afe A 3B
A raeifdd fde e efae & i &1 3corae ST
wHel: zso" 3T 45° £ At efae &t FATE ST

(A) 87.6 m (B) 98.6 m
(c)8s.2m (D) 99.4m
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Q24. The angle of elevation from three point A,
B, C on ground at the top of pole areq, 2a, 3«

respectively. If bottom of pole is P, then 3AB? =
4PB?, thenwhatisPC? If AB=100cm.

TH & & folare & afdw we f&4 A, B, ¢ di=
fasg3il &1 I5o1del HIVT HALL: q, 20, 3a & Al T

HTUTE P £ 92T 3AB2 = 4PB2 &l PC SITd &2l 2 Tf2 AB
=100 &=t

(A) 50 &t (B) 22

V3 !

(c) 1003 &4 (D) 100 &3t.
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Q25. There are two parallel streets each directed
north to south. A person in the first street travelling
from south to north wishes to take the second street
which is on his right side. At some place, he makes a
150° turn to the right and he travels for 15 minutes at
the speed of 20 km/hr. After that he takes a left turn
of 60° and travels for 20 minutes at the speed of 30
km/hr in order to meet the second street. What is
the distance between the two streets?
el AT NfHAT &, Tds ISt Jae & efator 6t 3z foee &
UgcH It A afehor & Iae 6t 3 ATal 2311 v Afh gardt
ISt A SATAT TTEaT & il 3HD ardt 32 €l fheft TP ve ag
arg 3ile 150° 3{zan ¢ 32 15 fAse a& 20 fAaft/aver &
Ifd & ISl €1 38> aI8 ag 60° ardt 3ite Fgan g 3ie 20
fAsie @& 30 ﬁﬁﬂéma?twﬁaam?mmif
’ ‘aidhaﬂ?ﬂﬁmaﬂ ?
B; 10.5 km
D)15km
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Q26. A plane is going in circles around an
airport. The plane takes 3 minutes to complete
one round The angle of elevation of the plane
from a point P on the ground at time t seconds
is equal to that at time (t + 30) seconds. At time
(t + x) seconds, the plane flies vertically above
the point P. Whatis xequalto ?

U fAaTTel T ZaTs Udal & dTe) 31T JaTdIe dadme

911 281 €1 T daehe YRl ol & faaiTel 3 fAere Sar
{ qﬁwﬁ%mﬂmw 3T T (t +
e

30) B0 & IooTdol BIVI SeTaE 21 AAT
t+x)m§z,ﬁmaﬁgpas3eafm3gm?a’lx
S &

(A) 75 sec (B) 90 sec
(C) 105 sec (D) 135 sec
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Q27. On a plane area there are two vertical
towers separated by 100 feet apart. The shorter
tower is 40 feet tall. A pole of length 6 feet
stands on the line joining the base of two
towers so that the tip of the towers and tip of
the of the pole are also on the same line. If the
distance of the pole from the shorter tower is
75 feet, then what is the height of the taller
tower (approximately) ?

TS HAde &1F & 3 FHeafer Hlare v e A 100
Hie &t g ue E1 Bidt Hiteame it Fard 40 Hie g1 6
Ble &al (A1) TH AT 3o &l HAlorel & do &l
Gilgat a1t 23T U2 34 WahTe 3l & &b Sl el &
2ftef 32 Ziat =1 efief eep &t 2 e 21 af Bidt ofteie
A dffee & @A $it gt 75 Hie ¢, at 78t e Hi
Sar8 (S913191) g2

(A) 85 feet (B) 110 feet

(C) 125 feet (D) 140 feet
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Q28. A flag pole on the top of a mall building is
75m high. To an observer at a height of 400 m,
the mall building and the pole sub- tend equal
angle 9. If the height of the mall building is
325m. Then find the horizontal distance (in m)
of the observer from the pole.

TS ATS Adal & FU U sadi-<2 g & fAadt
FaE 75 #t § aoo A Faf e Ra v aAfB 1w

mmaﬂzmzzmaﬁmmaﬁam%uﬁ
TS odal Hi FaTf 325 M ¥ a9 eawT o2 3 AfD
sdadfdagiismase?

(A) 20 V10 (B) 30
(c) 2510 (D) 3010
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Q29. At the foot of a mountain the elevation of
its summit is 45° after ascending 1000m
towards the mountain up a slope of 30°
inclination the elevation is found to be 60°. Find
the height of the mountain.

TH Udd & d A folee &1 3idsiasl HIvT 45° 21
1000 ftez uda &t ae® 30° HIUT & ATA TS UL
ag1 & udd & folzme &1 3asiatst HIVT 60° & AT
at uda &t Farg sira s

(A) 3+ km (a)% _—

2

(c) ? km (0) % km
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Q30. Two trees are standing along the opposite
sides of a road Distance between the two trees
is 400 metres. There is a point on the road
between the trees. The angle of depressions of
the point from the top of the trees are 45° and
60°. If the height of the tree which makes 45°
angle is 200 metres, then what will be the
height (in metres) of the other tree?

2l g8 veh T3 i faudla Ren A 712 &1 el gei' &

amﬁ?hooaﬂailz‘m’fqeﬁésawagasw
v faog 21 gaif it =it A faog &1 3r@staral ST
45° a1 60° g1 A3 aE & Tl 45° BT HIVT Taltdl &
ﬁiglfzooaﬂu%,a’t{aiqefﬁm(aﬂaﬂ)
T

(A) 200 (8) 200 V3
(c)100v3 (D) 250



MATHEMATICS s Pk

Q31. A pole stands vertically inside a triangular
park ABC. If the angle of elevation of the top of
the pole from each corner of the park is same,
then in the triangle ABC, the foot of the pole is
at the.

v [Asivfia urd (3a191) ABC & 3foee TP &
JeafeR @1 21312 Ut & TS Biat & &l & ofief
&t I=aT BT BV THAATA &, af ASBIT ABC A

TAFH BIUC BETUZ & ?

(A) Centroid/&ogd

(B) circumcentre/ufe¢des
(C) Incentre/3ia:

(D) Orthocentre | &34 dog
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As seen from the top and bottom of a building

of height h m, the angles of elevation of the top

of a tower of height 2=V

respectively.

faseft samea & ofif i faus fasy & fasedt efae
foraredt Faré “=-- aftee  srasierst ST B 0
Me3E

m, are a and B

Q32.If a 30° then what is the value of tan3?
3912 a = 30° £ dl tanB BT AT STd Hel ?

(A)1 (8)

OF (D) None
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As seen from the top and bottom of a building

of height h m, the angles of elevation of the top
3+v3 )h

m, are a and B3

of a tower of height (
respectively.

fdeft zoea & ofief 3z fAwe fasg & faseft efae

faadt Tard "3*;_3"" ez & 3astaat ST B2 a
ME3E

Q33. The angles of elevation of a cloud from a point
200 m above a lake is 30° and the angle of
depression of its reflection in the lake is 60°. The
height of the cloud is.

v e & 200 #ft s Ra ve A et ares &1
Jooidel HIVT 30° £ 3 3 e & &1 ATt
HIUT 60° F1d1ee Bl HATE FATE?

zA 200 m 583 300m

c)400m D) 600 m




